N = 0l & At & Ml A

2N E
Zu:

F2 s Dl

dHEE

SA-3H -2 (3AH) - MRAS Off &t 24 Oll &F ot Hns2

01
o

=0 =X 40,659,318 38,005,442 2,563,876
23,860,303
Xl 1,211,500
Jl 172,200
< 4,338,348
Al 11,076,967

W

FUMETAMEA B 21,499,463 20,501,768 997,695
14,891,089
Xl 912,500
Jl 172,200
< 2,449,534
Al 3,074,140

W

S
P
0z
121
T
0
o

, 753,056 15,869,410 A 116,354
12,582,988
,575,314
1,594,754

Z W

MASO(EX) 15,327,224 15,424,031 296,807
12,261,780
,532,722
1,632,722

=z W

301 LEE A 15,327,224 15,424,031 A 96,807
12,261,780
,532,722
1,632,722

= HnH

ol = 15,327,224 15,424,031 296,807
=2k A= 15,327,224
12,261,780
,532,722
1,532,722

O z=da2d+3T M= 0

= Hn

nEg 48,162 47,357 805

308 MXIEHHMSOIH 48,162 47,357 805

08 I 202X 48,162 47,357 805
OnsZo (XL 2€3) 48,162

:Oé
r>
52
H
B

100,368 96,559 3,809
80,294
10,037
10,037

Z W

301 et 4= 100,368 96,559 3,809
80,294

10,037
10,037

= N H

01 MI2EZE 6= 100,368 96,559 3,809
B2 HMAFHSH 100,368
80,294

10,037
10,037

= HnH




dl
oF
0J

Ao

=

<l

E=)

z

oM RO

= I

ol i

20 20

ol ¥

KF =~

&l oF

R0 TJ

[e6) o o [ep) (V] Al (] (] o o o o o o o o
o © © o < < o o o o
. «@ «@ «@ 2 S © © <« <«
=+ ()] Yo} Yo} ™ — — (aV] (V) (V] [a\]
o I R q @ @ 4 <
E|
=)
[e0) o o Ye) o o o o o o o o o o o o
(e} <t o o (@) o o o o o o o
b N S S B S |2 N © |©
e m & & - & & ® ®
[e]
uilEd!
Pdk=
o O o O o o O Al 0O ™M Al 0O ™M (V] [N) <t 0O ™M o O o O o o O o o O o O o o O o O o o O o O o o
© O © O [de) O O < 0O WU ™ < O WU ™ < < WO W ™ o O o O o o O O o O o O o o O o O o o O o O o o
OO OO OO uYo[d VIR O VWIS SIS SIH ® O O L OO B|E © O|F FIF F 5|3 35 S
v wn [Te] w0 w0 — IO AN ™ — O AN ™ — — O NN ™ o O — M~ N~ N~ N~ N~ — — —
3
<
=
n n mr =< =< muH=< I U A Iy U4 0y 1y W 0
or .
X0 Kq
1] izl m
. = K
o
31 o) W |
= = B = il ulo
T 3l 3l o = no
ar oll oll = o no <0 o
< Ar fr = o) 00 o i
. 50 0 ioll ol <F < al ulo W 5
= | e fir Ar K4 e 140 In ) o=
R0 n 00 n . ol _ no T K
) = I = K0 3+ Ko et ] 30 ol My Ry = -
o | m s = w e < ok o
& <+ o grmo o o R = = b o = 10f no ™ o bt B <0
g M 20 Q0 <k mm 20 R0 oF _ 0 o ol B0 ol + 20 T = = I
- il H H K < H H o 01 mE WD T |Z® H AU B CL TR
" oD 3 (I X o o R m ) ot o Moo I W= 3 =z = K- U=
RO ol oll < O oJ on < O ol < O 0 O = = O ol w O ) al O
- |® |z |5 i = = o2 |5 |s 8 g |5 s |3 g |8
g Ar > [Ar ™ = eV eV » ™
I 50 50 >




2N
X ZH -
L= B

el

1

> K

t
|

2MHA W3

g (¢t

B re re
0z 0x JiT
o lor >4

S
bal

HT

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

| | 1,000

FHAANSXE 1,746,664 1,682,540 64,124
391,070
912,500
165,172
277,922

n=Hx

=

N
il
I
]
t
B

488,840 488,840 0
391,070
39,110
58,660

= N W
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= N W

01 MI2EZE +06l= 488,840 488,840 0
= A& 488,840
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39,110
58,660
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NSAT2E ASIMEIA ETAS (BEX) 1,140,624 1,087,500 53,124
912,500
114,062
114,062

=z A

201 fEt2E | 884 884 0
Xl 708
88
Al 88
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OX A MEIA SEXHAY 2SI 884

Xl 708
88
Al 88
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202 Oddl 1,000 1,000 0
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100
Al 100
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01 =LHOI LI 1,000 1,000 0
OXGAS MBI A FEXALY G HI 1,000

Xl 800
100
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307 21201 A 1,138,740 1,085,616 53,124
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SN FUSKD
M FOMEXEAMHA RZ
el HUH ST (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 910,992
< 113,874
Al 113,874
IZZCYWIMNY KB (EX) 48,000 32,000 16,000
< 12,000
Al 36,000
307 glz2tol & 28,000 32,000 A 4,000
< 7,000
Al 21,000
11 AIS S RAEE = 28,000 32,000 A 4,000
OJIRAZYWT 2IXA 28,000
< 7,000
Al 21,000
402 RIZER20l ™ 20,000 0 20,000
< 5,000
Al 15,000
02 212t X2 AL E = (01X THE) 20,000 0 20,000
OJIRASHT &7 20,000
< 5,000
Al 15,000
HOX ES 7,000 7,000 0
301 L2 A=z 4,000 4,000 0
1MIIEESS 4,000 4,000 0
O X Xl &td| 1,000, 000& 4+ 4,000
307 glz2tol & 3,000 3,000 0
01 2=2L =4l 3,000 3,000 0
O 2SHI 20,000 150 3,000
MAs=x0 A28z N 55,000 60,000 25,000
301 L2 A F 55,000 60,000 A5,000
01 ALl EE E 563 55,000 60,000 A5,000
OMASF:E 042 - FAJY B8 55,000
SAUAUOIME HMIIeza XN& 7,200 7,200 0
301 L2 A Z 7,200 7,200 0
01 MEIBEE X263 7,200 7,200 0
OgHAUOIE &IIZ XA
600,000 »12& 7,200
S|A=XX& 816,210 382,028 434,182
= 333,415
| 172,200
Al 310,595
S A2l AL oA K& (2EX) 93,350 90,972 2,378
= 46,675
Al 46,675
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M F0MEBTAME A W2
Sl SY =T K (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 93,350 90,972 2,378
= 46,675
Al 46,675
04 JIZHHZ22XREES 93,350 90,972 2,378
OSEAtd&telAb el XI& 93,350
= 46,675
Al 46,675
SHE AEYH SEAMUIA NB(BX) 193,200 84,000 109,200
= 135,240
Al 57,960
301 LBtEAF 193,200 84,000 109,200
= 135,240
Al 57,960
01 MEIBEE 053 193,200 84,000 109,200
O=ts =8 sEMtA X3 193,200
= 135,240
Al 57,960
ANZ7 SgAtd el & (EX) 15,000 15,000 0
= 7,500
Al 7,500
201 Let24d] 8,000 0 8,000
= 4,000
Al 4,000
01 At 22l 8,000 0 8,000
OsgAtd2tel 294l 8,000
= 4,000
Al 4,000
301 LEtE A= 7,000 15,000 A 8,000
= 3,500
Al 3,500
01 A3 EE E 563 7,000 15,000 A 8,000
OsSEAtd2tel AH| 7,000
= 3,500
Al 3,500
Ot SAMEIA MR (EX) 318,000 177,200 140,800
| 172,200
Al 145,800
201 Let24d] 5,400 0 5,400
| 2,930
Al 2,470
01 At 2teltl 5,400 0 5,400
O&0tIHeE =SAAMEA IHEFAY 2HZ U
450,000 x12CH 5,400
J| 2,930
Al 2,470
405 XHoHE S HI 312,600 177,200 135,400
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Jl 169,270
Al 143,330
01 AL EZFH S 312,600 177,200 135,400
OO0t SXAMElA HEXHA
26,050,000 = 12CH 312,600
J| 169,270
Al 143,330
ROt =SXNAMHA 28 XA 30,540 0 30,540
201 Zet24E] 30,540 0 30,540
02 =224l 30,540 0 30,540
OSsd SXxg 2eldl & AFMXH0l |X
=l 30,540
HIINSX 200 XNB(EX) 144,000 0 144,000
= 144,000
405 XHobF S HI 144,000 0 144,000
= 144,000
01 At ESFH S 144,000 0 144,000
O&IIXtEX E2 K& 12,000,000& = 12CH 144,000
= 144,000
DIMOIN N MAIS (RN ESES) 22,120 14,856 7,264
201 L4l 10,500 3,956 6,544
01 At 22l 6,500 0 6,500
OsY =X Let==Hl 4,500
OSXAZRC &= XM ASk2st A3
& 2,000
02 =24l 4,000 3,956 44
OgZ=X PRFAE N R 4,000
202 oddl 6,620 5,900 720
01 = LH 4 4l 6,620 5,900 720
OSIY=ERXNNEH RFEH|
20,0003 x110 «2H 4,400
Ob2%E 0t sld=sXaEs 29 2,220
301 et A=z 5,000 5,000 0
01 MEIBEE 263 5,000 5,000 0
OfAJIIt=72ES delzdam ¢ Xzt S 5,000
M SXAE X& 2,686,825 2,482,258 204,567
= 1,583,616
< 709,048
Al 394,161
FUQAAE 2HRE(EX) 2,343,505 2,104,584 238,921
= 1,583,616
< 703,052
Al 56,837
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307 glz2tol & 2,343,505 2,104,584 238,921
= 1,583,616
< 703,052
Al 56,837
10 ALl SXAIEEE2EH EX 2,325,310 2,082,849 242,461
OFURAANE 29 2,262,310
= 1,583,616
= 678,694
OFUQAAE SAX S 63,000
= 18,900
Al 44,100
11T M Z2XAISEX 18,195 21,735 A 3,540
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= 4,440
Al 10,360
OFNURAIL a0l AAH X 3,395
< 1,018
Al 2,377
ABI ST 2 X (EX) 23,320 20,680 2,640
< 5,996
Al 17,324
307 glz2tol & 23,320 20,680 2,640
= 5,996
Al 17,324
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Al 9,324
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Al 8,000
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M= 2 72,508 63,532 8,976
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301 gt d= 72,508 63,532 8,976
0B A =R RAB A4S 72,508 63,532 8,976
OMI =223 SAHI(MII=IAIE)
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Al 67,763
01 MEIBEE 2063 376,459 356,282 20,177
QXM=+ XNS(XH&t=l) 376,459
= 263,521
< 45,175
Al 67,763
ooz KNA(ExX) 134,076 135,172 A 1,096
= 107,261
< 10,726
Al 16,089
307 21201 A 134,076 135,172 A 1,096
= 107,261
< 10,726
Al 16,089
11T ALS S XAEE = 134,076 135,172 A 1,096
O&Ofel 2l=Hl XA 134,076
= 107,261
= 10,726
Al 16,089
NASTOHC XSl L HAH X (Ex) 3,600 3,600 0
= 1,800
= 720
Al 1,080
301 et a = 3,600 3,600 0
= 1,800
= 720
Al 1,080




<

n0

Kio

Hl w

N2TT

N2TT

AN2T7

5,000
5,000
5,000
69,132
69,132

9,560

59,572

H3r
Wikd
RIS

3,600

3,914

3,914

3,914

10,000
10,000
10,000
120,000
120,000

46,560

58,440

15,000

Off &t 24

3,600
3,600
1,800

fir

720
1,080
3,637
2,908

fir

291
438
3,637
2,908

Al

fi

291
438
3,637
3,637
2,908

H

Al

291
438
15,000

I}

156,000
15,000
15,000
189,132
189,132

Al

46,560
156,000
7,000
5,560
8,000
3,000
8,000
68,000
20,000

15,000
16,000
13,000

3,000

1,000
74,572
74,572

EX2010lw

=)
[nd

2|

e

eldl X

|

=

o

A
.

32

b

PN
=)

=]
-

|

e

o
[unl

13 22l X
he!

| = XI At
0

[N

X
S
X

b

=l

3

O

C|

11 A
|

307 gl2tol &
307 21201 &

O

8

Ki
iy
&l

<0
0
~J

oJ

A&

oD
=<

ol
i1
o)
K0
<+
LG

Ki
H

30
OH
RO
il

=
Ul
~J

(=1

(B=2H)

30
O

ol
0
o)
K0
<k
e

| = XAl

2

10 At

30
(U

-

w

Ed
ol
H
~
Kk

oJ

K0

Kl

o

17,000
17,000

17,000
17,000

=

307 21201 &




2N
X ZH -
L= B

el

xD|EX|ﬂ|>

T T/
ool SN
Tojel MEHO TR9 =X ZA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 17,000 17,000 0
OMI38al FHoHelel & Jgstore 17,000
B XZ0I & AZEe =2Xal 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
11T MISRASEX 4,000 4,000 0
OXM392l X &2 & AMAHM =X
40,000 =100 4,000
24T A X2 9,000 9,000 0
301 et d = 9,000 9,000 0
09 HALAHIE& S 9,000 9,000 0
Od= s0teliia 4243 40,000& 659 2,600
O&= XNHMEHS XNEXCHE HFHBaz
150,000& x4 H 600
OHM21al 8= XNMEOMY &z FH2a=
150,000& x4 H 600
OAZZOfOl 8 XZ0| Hase HAZAD
10,000& 30 82 2,400
Od= ZFUe s=ta X248z
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O&=J1sd7 Ual 4243
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=2 201,114
< 80,446
Al 120,668
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< 13,415
Al 20,122
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307 glz2tol & 3,060 3,060 0
= 2,142
< 367
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11T M SXASEEX 3,060 3,060 0
O 2SXNIAG(ZSSHML a2 0) 3,060
= 2,142
= 367
Al 551
o 2SN & FIAXNA(BX) 13,960 31,876 A 17,916
< 4,188
Al 9,772
307 glz2tol & 13,960 31,876 A17,916
< 4,188
Al 9,772
11T MISRASEX 13,960 31,876 A 17,916
O Eskd & FIHXE 13,960
< 4,188
Al 9,772
ZOHQl AtSIE S KA 28,054 157,520 A 129,466
201 Let24d] 13,874 130,020 A 116,146
01 At 22/l 6,650 121,020 A 114,370
OfIds &4 70,0003 7 x33] 1,470
OXOM XRSX =XEX 7 2,500
OB HSEXNY FXES £/ 1,000
QX & Ald HMEE LU= (M)
140,000& =128 1,680
02 =224l 7,224 9,000 ANT1,776
OZML |SXHE 2H HIS(AIH)
3,220& =1,2000H 3,864
OZM & A& HMEE S22
280,000& »12& 3,360
202 O4dl 4,480 4,000 480
01 = LH 4 Hi 4,480 4,000 480
OZ0j MBEINE EXCS
20,0003 x2H 45 1,800
OZOHQ BoAE X XZA 2,680
301 et a = 4,500 4,500 0
01 MEIBEE 263 4,500 4,500 0
OFMe Xoi=el AXNEE SEI| MES 2,000
OAIZZHe SHeH ZSAHEIA X2AY 2,500
405 RHoHF S HI 2,000 0 2,000
01 AL EZFH S 2,000 0 2,000
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OH EAE HEE dUHESS A 3,200
i THE L AMSIEOH ME(EX) 116,843 91,420 25,423
< 33,506
Al 83,337
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= 6,253
Al 14,590
04 JIZHHZ2Z2XNSE+ 20,843 0 20,843
Odet=E Zoel HoAE H=IT A 20,843
< 6,253
Al 14,590
307 i+l & 96,000 91,420 4,580
= 27,253
Al 68,747
10 ALSISXAIEEE 22X 88,170 83,590 4,580
OZoel HAANE NALMEH 2GS 51,457
< 13,893
Al 37,564
OAZZ0He EXtw=H 6,713
< 2,014
Al 4,699
OHMe Orstus 29 30,000
< 9,000
Al 21,000
11T A S XA E X 7,830 7,830 0
OFel MEes 7,830
< 2,346
Al 5,484
AT SMHIETA(2F 4,000 3,000 1,000
= 2,800
< 360
Al 840
301 et d =S 4,000 3,000 1,000
= 2,800
< 360
Al 840
01 MEIE2EZE 45z 4,000 3,000 1,000
O&ZHel E4tHIE XA 4,000
= 2,800
< 360
Al 840
SLHENUIA BIRH N (EX) 179,161 178,839 322
= 125,413
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